This Question Paper contains 7 printed pages.

Seat No.:

LN+ yooo0s 178(G)

(May, 2021)

Time : 3 Hours] [Maximum Marks : 1‘00
YA ¢ .
1) U UsAUAHL §4 60 us-l O,
2)  wauani wula yan wadl G qvil,
3)  wadl WA 2is @vla © d @ euld ©.
4) -l Rewdt da R audl,

[Qeua- A
(Adut)

B 09 2udan 1010 gl Sgasl usr-us-l 8, 2l [asedlmiel 2wl
opald il £35 Uil 1942 8, [10]

1) gl slecdl arg wuudl AR g sdaun ?
(A) AUR
(B) a”l%
(C) AL usld

2) el g sle iR Uk 8 ?
(A) Awsl olsl
(B) Auwlil
(C) ™R AR

3)  Rareuyweeudaidd ... galdl sSUd 6.
(A) HPWRA
(B) ulad
(C) n-ulEd

EIQ65 178(G) Page 1 P.T.O.




A8 o] 2 3ol dragail i A W ?

(A) sl

(B) aldlR qyua-l

(©) ilay qual

A5 2L A oflog Bauil Aarm 33 YAl s 565 A4 53
87

A) [afAay ds)

(B) nidRUNy 65

(C) ells 65

HIRAME s 3R 2e@sll DA Gy ... Al €y B,
(A R sy aarz
(B) AR+ ULl A3

(C©) MRl AU

19474l s AA Red] 42 quiz 3l wd) ?
(A) 2idRs Aur

(B) AidANly

(©) llelluis d5)

Ul e 3Y-

A) 3Rz 5

(B) drq -ug

© g -ug

178(G) Page 2






















This Question Paper contains 16 printed pages.

Seét No.:

SLNo- 1 156(GHE) |

(May, 2021)

Time : 3 Hours] [Maximum Marks : 100

YA :
1) wuusuAn ga uia Rewe i 60 usil 8.
2) oo Ul sAFAd 8.
3)  wedl i avla vis aeald o.
4)  waefl A el e aual.
5)  «dl [QeuaL AaL Wil 4R awdl.

[Qeua - A
B 09 wudan 19 15 sl sgRse usi-u 8. wal [Asey A avil.
g5l 132 6. | [15]
1) olol-ll Rmasi 2 L4l visel aud udl -l
(A) SR UR VAAUSIRS AR (B) sl olud
(C) sl 2uas
2)  wals d-dla ndad 34 wleduas 9 7
(A)  [Rordaird wRdl was . (B) g A i Rl wots 8.
©)  riid RA wAs .
C3)  sul dlosle daiani deilHl [Qauludl ay Sl 6 ?
(A)  walis sl xedd (B) alfis dlog-usly »dad
(C) [Riqd Al veqdd
4)  udaad Yo dldHiell AsBid s2a Rdl 3l avud ?
(A)  Hvd wledl (B) Alxel uladl
(C) Al
5)  eaclldzeil a3udl usddl Aimadl Huledl 5l oauy ?
(A)  edasl *uledl (B) ol Huldl
(€©)  ¥wu Huledl

AAA92 156(G) _ Page 1 . ‘P.T.O.







15) owu-ll sleirell Wia vdleadi 2ud AR PR R RCTE RRE NS
(A)  2ueisidl A (B) uds AR\
()  3[wu dum A

[@enar - B

B 09 2udan 16 9 30 el uadin ol s R avil. €5 EL T
132169, | [15]
16) Gelo usRus- 9fe A -l e au o ?

17) oL 247 Yrasl aRAsAl ol wuAl.

18) Aot wal sal e 33 eusld or3RULAA 58 Hdl seauu ?
19) RSl AlusieL 6 Al suL S ?

20) 5232 @dldl FadlA suL 8L adfl addl as Q7

21) 52 2R yucdl 42 3l Aol © ?

22) 32 su-dlui agHi ay Jedl uedl QU ?

23) clzlEleHi G usll 3g adaL BRladlL €l AsA ?

24) eisidl Fsid sAL A R AL WIS 7

25) ‘4R Astl AHAdL. |

26) 5l s2a-eus uzd A sl yusil udual 8 ?

27) $Reldl ¥2d g 7

28) 518 A Yy Wt 56D ?

29) Midd Aar-l e Gudlal 2Hed g ?

30) uFalledl 249 acl-lls0 a2l Aol S ?

| [dena - C .

@ D3 vuien 3160 42 uadio ARH st qvil, 83540 23R8, (A d 10) [20]
31) el 22Ul 12 59 56 ugRl AW S ?

32) oSy asddl A2d g ?

33) sillla yilvea g ?

34) Ay a3 28 (VAT) xed g ?

35) usiRelld a »ea g ?

36) violl SusllA sul Rese a8 ?

37) @y AR sl euvaL sul.

38) I AWA AN2A Y ?

AAA92 156(G) Page 3 P.T.O.







Seat No.:

1.' No. : |
ey 156 (H)
| (May, 2021) |
~ Time : 3 Hours] [Maximum Marks : 100
QEFHQV :

1) wwﬁsﬁmaeomfm{ﬂq%l
2) |t ww i ¥ | faenen staftes €1
3) WY % I GOl o AN & S
4) e 30T ik wvAl 3 goi T[T 9 € |
5) U fauTT ST JIHIE T IS | S|

faurT-A

m Omfated 1 15 9% % o gqeeh ¥ fag T fawedt (A, B, C)
iqud s eI Taw w s fag 13w e : [15]
1) e ¥ oo § Fe § | T g6 TR R -

(A) Tafim o s e gfawa
(B) wHF=A
(C) WM
2)  wreifire e e wieed FE?
(A) oo g
(B) T iR it gerrTTh
(C) T o FTTIH
3) o deEER whweA | fradi ) favamrr afis g e?
(A) e AR fdee |
(B) aftier ISR Tfcarad
(C) fawqga sirsrrenia e

AAA92 156 (H) Page 5 P.T.O.




4

)

6)

7

8)

9)

HETU 21 e T A TH Y TE G B e e 22

A) &I
(B) <f e g=m
(C) o g=mm

THIES & &9 H 98 e ¥ fefaa g=mn ao wet smwh?

(A) STTIRE I
(B) T =T
©) g&EEg=ET

et & 3 foree wrfvie §oft & T 72t gan

(A) T
(B) MR
(C) ==

9RA & HEhR! weensll & g - sifaifea S we ! g o

H AR gam?
(A) 1904
(B) 1947
(C) 1956

forshl =1 7% PR YR 1 ‘' &2
(A) FaEH

(B) W&

(C) =

7o frofa & 97 & 7a wi9-9 72
(A) T ST SR SR senfia
(B) fomma smenfia 3iR fasnt smenfia
©) @a‘amrﬁaamwawrﬁa

156 (H) Page 6




et Tt I R 6 ferg o STavEe § 2
C(A) TR

(B) foht

(C) fomma

- formel YV TEd I TIR 1 SO B 22
(A) == =

(B) IR =T

(C) STHATSRTO T =0T

e foreg S1erte A SeareH el STef...

(A) 4T fawa A g e |

(B) forsha el o WM BT € |

(C) e = @ Toer i fefa |

e 1 9H WU R 2

(A) TR

(B) @@

(C) frolm

S 30RO iR arery Tsf % faw § wrE | heH
Serireire’ 5T 3 wifer i 87 | |
(A) &t TR, TH. G

(B) . . A T

(C) & HI IR

o3 3 AR & el T THA H-1 AT B 8 ?
(A) TR T

(B) 3T

(C) hera fershiant

1 56 (H) Page 7 P.T.O.




faum - |
B FrfRed 16 @ 30 Tet & 3w € frar d S | v T
feg 1t [15]
16) e wrefae #f gfs €1 4 fraw gig St 37
17) @1 TE gfd % o= Hay guemeT |
18) feA-wffed @ d g o7afar Yot &1 starwashal =1 HH- i
HET STC?
19) foreetta JmeA % & T #1- §7
20) g Haelt i o6 o i anf | faafaa frar < a2
21) IR U@ YA & o= 1 g9 2
22) ofsersh st H sifere-Y- sifeh fohae wow B g 82
~23) e H ST val 1w 9T ifew?
24) EHRT F fHT TS W 0] B £2 |
25) ﬁméaxréquwn
26) HTHA W Yo g U 1 wagai &2
27) R fRE FEd €2
28) UROTHENS HaTe i qd vd w1 8 ?
29) TS HYHA 1 I ITENT ST 12
30) HSieral s TET 707 & S O e &2

faum - ¢

B fefefed 319 42 9 % e & e wa F SR v e
forw 2 afer ¥ : (@7 st 10) [20]
31) SHHME I TG 7Y HIA- 1 G qgfaat a0 vedt &2 |
32) forita v svufq @2 |
33) wreie Ioi ol e §2

AAAY 156(H) Page 8




34)
35)
36)
37)
38)
39)
40)
41)
42)

T T T (VAT) fordy it ¥

L Frufor o ot o a9ef B2

Froft ol 1 P FoefoT T e e

T il g % af A

= 90 fohd Fed &2

STIN{TTeR STevge ol HH-% A G &7 Fa=y |

qftt 1 qatga ford wed &2
SfeRTa Afereht fondt shed 2

. TH. WSTAICral o Yo Hohet SETT Hiefs o2

faumr - p

ﬁmﬁ#&a%ﬁmm%uﬁf%mﬁ%mwa’iﬁrqn
U U9 o 10 3 3fm ¥ : (&1E o 10) [30]

43)
44)
45)
46)
47)
48)

49)
50)
51)
52)
53)
54)

Y SHTS ! THA & TR YR T |

Tt ot e e it 3 d i T

ISR 1 WA LT 1?2 ST Hewd & 7} 1 FaET )
YA & TR0 o Frferd Sfeie FarEy |

ST & 8 HH-$HH A T 21 87

T I % ToehT % FoT TR 511 R Yo o1 Sirere fogan s
§7?

HREM & 137 (1948) F T&7 Ser FaEy |

SIS GATE & T 52eh $HiH-9 &2

HSiTcHeh SATeR B SHIM-H1 HHEH 37y @ i fierr &2
I ARET 1 TN ARG qlieh- e 1 Freh & TR SRy
I Trefaedr o Fi¥eror & ua o 99T |

SRR T AR fah 9% & o= 1 A GHmT |

156 (H) ’ Page 9 P.T.O.




faumr - E
m frofafad 55 ¥ 60 7 % 99T Frag WK & ¥ W 9 & fag
53 : (FE W 4) ‘ | [20]
55) e AT Hee FiEe TR F % T TR
56) HEifiTes 39T ¥ T SR foRE T o AT |
57) wrieRY ¥ w1 o1l IHT AIIERT 6 WK bl AT |
58) TSR FaeroT 3 fore FeToret! fohe WohT SR T STl &2
59) e HeEH (FHA) H g A w5 == F
60) IS T I A Wi R Fed €7 fowr @ wHEE
L 2 2

AAA92 156 (H) Page 10



Seat No.:

Sl..NO.: | 156(E)

(May, 2021)

Time : 3 Hours] ' [Maximum Marks : 100

Instructions :

1) This question paper contains S sections and total 60 questions.
2) All questions are compulsory.

3) Answer according to instructions of the questions.

4) Start a new section on a new page. v
S) Figures at the right side indicate full marks of the questions.

SECTION - A
B Questions from 1 to 15 are multiple choice type questions.
Select and write the correct answer from the given options
A, B, C. Each question carries 1 mark: [15]

1)  Which is not considered in the vicious circle of poverty?
(A) Effective returns on investment
(B) Low Savings
(C) Low Income

2) What’ kind of register is PPR?
(A) Detailed information register
(B) Simple and short information register

(C) Sample information register
3)  Which project report contains more reliable results?
(A) Preliminary project report |
(B) Annual project report
(C) Detailed project report
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How would you attribute the information gathered through
either survey or from the primary source of information?
(A) Primary information

(B) Routine information

(C) Secondary information

What is the information called which is enlisted in the
beginning in the form of a document?

(A) Objective intensive information

(B) Secondary information

(C) Main information

Which one is not considered in working capital?
(A) Cash

(B) Debtors

(C) Vehicle

In which year did the ‘Co-Operative Societies Act’ come in
force in India?

(A) 1904

(B) 1947

(C) 1956

Sales tax isa —:
(A) Directtax
(B) Indirecttax
(C) Othertax

Which are the two main approaches of price decision?
(A) Profit based and market based approach

(B) Advertisement based and sales based approach
(C) Expense based and market based approach
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11)

12)

13)

14)

15)

What is necessary for the development of an industrial unit?
(A) Innovation

(B) Sales

(C) Advertisement

Which is the initial phase before negotlatlon?
(A) Negotiation Phase

(B) Preparation Phase

(C) Implementation Phase

Break-even point is a point where production capacity—
(A) Purchase and sales are equal

(B) Sales and profit are equal

(C) A situation in which no profit and no loss.

What is the first step of management?
(A) Planning

(B) Budget

(C) Decision

Who is the owner of ‘Cadsis Technologies’ unit that is
concerned with the development of internet and wireless
method?

(A) ShriR. S. Khadwalia

(B) ShriN.C.V, Rangacharya

(C) ShriKeyur Sharda

Which tax is levied on the goods that are purchased from
out of the state?

(A) Excise duty
(B) Income tax
(C) Central sales tax
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SECTION - B

[ Answer the questions from 16 to 30 in one sentence each.

Each question carries 1 mark :

What increases with the increase of entrepreneurship?
Explain the relation between Demand and Supply.

What is the capital called which is necessary for daily

expenses?
What are the two sources of monetary instruments?

In which three groups, the rules related to income tax can
be divided?

What is the relation between contract and MOU?

What is the maximum number of members in a public

company?

What kind of attitude should both the parties have while

negotiation?
Excise duty is levied on which goods?
Explain the Depreciation.

Give the name of the group in which Shri Karsanbhai Patel
is founder.

What is meant by tax payer?
What is the precondition of an effective management?
What is the optimum use of human capital?

What is the relation between creativity and innovation?
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SECTION - C

Answer the questions from 31 to 42 in short. They carry
2 marks each (Any 10): [20]

31) Which activities are to be performed for establishing a
business?

32) Whatare monetary possibilities?

33) Whatis working capital?

34) What does value added tax mean?

35) Whatis tax determination year?

36) Explain the regulation for private company.
37) Give definition of Small Scale Industry.
38) Whatis a random sample?

39) What is necessary service?

40) What is meant by supply estimation?

41) Give the definition of sole proprietorship.

42) HowN.S. Khandelvaliya became a successful entrepreneur?

- SECTION - D

Answer the following questions according to instructions from

43 to 54. Each question carries 3 marks. (Any 10): [30]
43) Explain the four local support of the success of a small unit.

44) Give the difference between fixed capital and working capital.

45) What is market possibility? Explain its main elements.

46) Explain the possible problems of Data Collection.
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Seal No.:

Sl. No. : 046(E)

(May, 2021)

Time : 3 Hours| IMaximum Marks : 100

Instructions :

1) This question paper contains Five sections.
2) Figures to the right side indicate full marks for the guestions.
3} Answers should be written according to the instructions only.

4)  Start new sectlon on 4 new page.

SECTION - A

m Questions from 1| to 15 are multiple choice type questions,
Each question contains four options (A, B, C, D) select the
correct one and write, Each question carries 1 mark : [15]

1)  What type of an activity is management?
(A) Universal
(B) Inefficient
(C) Defining objectives
(D) Transparent
2)  What is the other name tor bottom level management?
(A) Functional level
(B) Workers level
(C) Policy making level

(D) Officers’ level
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4)

3)

6)

7

DWEK41

What are the principles of management?
(A) Result of experience

(B) Management decide them
(C) Decided by experiments
(D) Managers decide them

Planning function means
{A) routine function
(B} fixed function

(C) function of choice

(D)) difficult function

What is pre-condition for successful planning?
{(A) Long term

(B) Short term

(C) Organisation

(D) Flexibility

In which type of organisation, work is given more importance
than department?

(A) Linear

{B) Functional

(C) Informal

(D) Matrix

What can not be delegated from the following?
(A) Authority

(B) Responsibility
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8)

9)

10)

1)

DWEK41

(C) Accountability
(D) Work

Selection procedure for non managerial staff is?
{A) Difficult

(B) Short and simple

(C) Expensive

(D) Long and special

is the second step after recruitment.
(A) To give promotion
(B) Selection
(C) Training
([3) Transfer

At which level of management, direction is required?
(A} Bottom

(B) Middle

(C) Top

(D) Allof them

Controlling is nota __ process.

(A) continuous

(B) intemal

(C) rnigid

(D) dynamic



12)

13)

14)

15)

D'WK41

By which other names is the objective of wealth maximisation
known?

(A} Social welfare

(B} Capital investment

(C) Netpresent value

(D) Trading on equity

In which year Depository Act came into existence?
(A) 1991 |
(B) 1992

(C) 1995

(D) 1996

In marketing management s at the centre.
{A} Product

(B} Production

(C) Customer

(D) Profit

Which of the following is the function of a marketing
manager?

(A) Making the goods consumahle

(B) Storages of Goods

(C) Market segmentation

(D) Sales
046(E) Page 20



SECTION - B

L Question nos, 16 to 30 are very short answer type questions.

Answer each of them in one sentence only. Each guestion

carries 1 mark: [15]

16) Whatis management”

17) Which level of management does the function of machinery
layout and repairing?

18) Give the full formof M.B.A.

19)  What is time study?

20) State types of budget.

21) Whatis Organisation?

22) What do you mean by Accountability?

23) State the names of various types of tests conducted for
selection process,

24) Which is the base of the selection process?

25) What do you mean by profit sharing?

26) With which functions of management 1s planning closely
related?

27) In which form dividend can be paid to the shareholders?

28) For which type of security issue, the expense is
comparatively less?

29}  What is sales promotion?

30) Whatis Branding?

DWEK41
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SECTION - C

B  Answer Any thirteen of the fellowing question nos. 31 to 47
in short. Each question carries 2 marks:

31)
32)
33)
34)
35)
36)
an
38)
39)
40)

41)

42)
43)
44)

45)
46)

47)

DWEK41

What 1s co-ordination?

Who are included in the top level management?
Discuss various elements of price-mix.

What is the meaning of scientific management?

What is subsidiary plan?

What do you mean by policy?

Give the meaning of formal and informal organisation.
Prepare the structure showing matrix organisation.
When is Decentralisation possible?

Explain the term ‘ Waiting List’,

What can be known through trade test and psychological

tests?

How is controlling an internal process?
What are the instruments of money market?
What is Dematerialisation?

List out the advantages of Labelling.
What is the need of *Storage of goods'?

Give the types of channels of Distribution.
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SECTION - D

B Answer Any Eight of the following question nos. 48 to 59 in
short. Each question carries 3 marks: [24]

48) Discuss the contribution of Peter F. Drucker in the field of

management,
49) Discuss the meaning and formation of Linear Organization,
50) Explain the elements of delegation of authority.
51) Explain any six characteristics of organising.
52) Explain the characteristics of direction (Any Six).
53) Discuss the Non-Financial incentives.
54) Is controlling an end activity of management? Why?
55) Explain the importance of financial management.

56) Give the difference between Gross working capital and Net
working capital (Any three points).

57) Whatare Treasury Bills? Explain.

58) Explain the difference between selling and marketing (Any '

three points).

59) Mention the characteristics of a “Good Sales Man’,

SECTION - E

B Answer Any Four of the following question nos. 60 to 65

in detail. Each question carries 5 marks : [200]

60) Defline marketing management and explain its functions.
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61)

62)
63)

64)

65)

DWEK41

Give the difference between Top and Middle level
management. (Any five points).

Discuss the types of planning.
Explain the meaning and importance of staffing.

What is Recruitment? Discuss in detail the external sources

of recruitment.
Explain the Maslow's hierarchy of needs with diagram.
*o 9
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Seat No.:

S1. No. : 154(E)

(May, 2021)

Time : 3 Hours] [Maximum Marks : 100

Instructions :

1) This question paper contains 6 sections and total 48 questions.
2) Answers should be written according to the instructions only.
3) Figures to the right side indicate full marks for the questions.
4) Use Pencil and sclae wherever necessary.

5) Use of simple caclulator is permitted.

6) Start new section on a new page.

SECTION - A

® Questions from 1 to 15 are objective type questions. Choose
the correct answer from the options given and write. Each
question carries 1 mark : [15]
1) How many number of partners are there in partnership
business according to the Rule 10 of the Companies
(miscellaneous) Rules, 20142
(A) 10 (B) 20
(C). S0 (D) 100
2)  Super Profit means .......
(A) Capital employed — Expected Profit
(B) Expected Profit — Capital employed
(C) Average Profit — Expected Profit
(D) Expected Profit — Average Profit

3) Atthe time of the reconstruction of a partnership firm ....... is

prepared.
(A) Trading account (B) Revaluation account
(C) Realisation account (D) Profit-loss appropriation

account
4) Old partner is also required to give his share in goodwill to
other old partner, when ............ :
(A) hiscapital is less
(B) his new share in new profit-loss ratio is more than his
old share
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5)

(C) his new share in new profit-loss ratio is less than his old
share

(D) his new share in new profit-loss ratio is equal to old
share

If partnership deed is silent, interest is payable at ...........ceee

on unpaid amount payable to the retiring partner.

(A) 10% p.a. (B) 12% p.a.

"~ (C) zero (D) 6% p.a.

6)

7

8)

9)

10)

11)

The Employee provident fund balance shown in the balance
sheet at the time of dissolution is recorded on .......... ;

(A) Creditside of Realisation A/c

(B) Debit side of Realisation A/c

(C) Credit side of Capital A/c

(D) Debit side of Cash A/c

Which is the first payment made from the realisation of assets,
at the time of the dissolution of a firm?

(A) Dissolution Expense

(B) Loan of Partner’s wife

(C) Liabilities towards third parties

(D) Partner’s loan

For Public issue of shares company has to take a permission
from whom?

(A) Central government (B) SEBI

(C) State government (D) Reserve Bank

As per Companies Act, 2013, a company engaged in
infrastructure projects can issue debentures for more than 10

years but not exceeding years.

(A) 20 (B) 30

(C) 40 (D) 50

At what rate debentures would be issued at discount?
(A) 10% (B) 5%

(C) 20% (D) rates as decided by

board of directors

The expenses of the current year of a company is ¥ 6,00,000
and if it is increased by 20% compared to the previous year,
what would be the expenses of the previous year?

(A) T 1,20,000 (B) ¥ 5,00,000
(C) T 7,20,000 (D) None of the above
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12)

13)

14)

15)

Which of the following ratios are included in traditional
classification?

(A) Composite ratios (B) Liquidity ratios

(C) Profitability ratios (D) Solvency ratios

To arrive at liquid assets which of the following is deducted
from current assets?

(A) Stock (B) Cashand Cash equivalent
(C) Debtors (D) Billsreceivables

Bank overdraft ............

(A) iscurrent liability but considered as financing activity.
(B) is current liability but considered as operating activity.
(C) iscurrent liability but considered as investing activity.
(D) is not activity of cash flow statement.

Increase in current assets and decrease in current liabilities —
(A) both are cash outflows

(B) both are cash inflows

(C) are cash outflow and cash inflow respectively

(D) are cash inflow and cash outflow respectively

SECTION -B

Answer the following questions from 16 to 30 in one sentence
each. Each question carries 1 mark :

16)
17)
18)
19)
20)
21)

22)
23)

24)
25)
26)
27)

What is partnership?

What is capitalised profit?

Under which head goodwill is shown in the balance-sheet?
Which is the other name known for the revaluation account?
When revaluation account is debited?

Who gives the share in goodwill to the retiring or deceased
partner?

What is voluntary dissolution?

Who has to bear dissolution expense at the time of dissolution
of a firm?

What is meant by share forfeiture?
What is meant by debenture discount?
What is financial analysis?

What is the cost of goods sold?
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28)
29)
30)

By which ratios liquidity 1s measured?
What is operating activities?
What is cash flow statement?

SECTION-C

Answer the following questions (Any Four). Each question
carries 3 marks :

31)

32)

33)

34)

35)

36)

Dhruva, Darshi and Prarshi are partners of a partnership.
Their capital as on 1-4-2016 was ¥ 60,000, ¥ 40,000 and
¥ 50,000 respectively. After the distribution of the profit of
the year, it was realized that charging of 6% interest on
partner’s capital accounts was missed out. Write the entry for
the rectification of error.

Heer, Swara and Jainil are the partners of a partnership firm.
Their capital proportionis4:2: 3. Swara and Jainil has given
assurance to Heer that she will get minimum ¥ 35,000 from
the profit. The profit of the year is £ 90,000. How would you
distribute the profit among the partners?

Prerna, Mukesh and Gaurav are the partners of a partnership
firm, They distribute profit-loss in the ratio of3:2:1.All the
partners have decided to change the profit and loss sharing
ratio to 5 : 3 : 2 for future. From this information, calculate
the sacrifice ratio.

Pass journal entries for the following transactions. The profit-
loss sharing ratio between partners A, GandDis3:2: L
Undertake the disposal of the following balances

(i) General reserve ¥ 18,000.

(i) Debit balance of Profit and Loss A/c T 12,000.

(i) Workman accident compensation fund ¥ 18,000.

Pass Journal entries for the following transactions. (Show the
calculation).

At the time of dissolution total assets of the firm are of
% 4,00,000. Out of that 40% are current assets where cash is
included of  20,000. 120% of fixed assets are realized. 80%
are realised from current assets.

On 1-8-2020 Apurva Limited issued 8,000, 9% debentures of
% 100 each at par. These debentures are to be redeemed on
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31-7-2022 at X 120 per debenture.

- Pass the necessary journal entries in the books of the
company for the issue and redemption of debentures.

(Without narration)

SECTION-D

Give answer to the following questions showing calculations
wherever necessary. Each question carries 4 marks (Any
Three) :

37) From the following information of Nirav and Harshit’s firm,

38)

determine the value of goodwill of partnership firm on the
basis of capitalization of weighted average profit method:

Year Profit (Y)
2012-13 45,000
2013-14 | 50,000
2014-15 65,000
2015-16 75,000
2016-17 | 90,000

Additional information :

(1) Business assets - 6,00,000
(if) Business liabilities - % 1,70,000
(i) Normal expected return of business is 10%

Sweta and Seema are partners of a firm sharing profit and
loss in the ratio of 3 : 2. They want to change their profit-loss
sharing ratioto 1 : 1. Therefore, they decided to make valuation
of goodwill. As per partnership agreement, value of goodwill
to be determined on the basis of 5 years’ purchase of last
4 years’ average profit.

Year Profit ()
2013-14 | 60,000
2014-15 80,000
2015-16 | 20,000
2016-17 30,000
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39) The abridged profit and loss statement ending on 31-3-2020
and 31-3-2021 of Akhsay Company Limited are given as
follows. Prepare comparative statement of Profit and Loss :

Particulars Note | 31-3-2021 | 31-3-2020

No. ®) ®)
Sales revenue 33,00,000 | 22,00,000
Other Income 2,25,000 | 1,50,000
Expenses 23,76,000 | 15,40,000
Income Tax rate 30%

40) (i) Calculate stock turnover ratio, from the following
information of Aroma Company Ltd. :
Particulars Amount (%)
Sales 30,00,000
Closing Stock 2,50,000
Opening stock 3,50,000
Purchases 12,00,000
Gross Profit rate 30%

(i) From the following information of “Yash’ Ltd., calculate

current ratio.
Current assets Z 1,50,000
Working capital ¥ 60,000

41) From the following details of Anjali Company Ltd., determine
transactions influencing operating profit and cash flow from
investing activities:

Particulars Amount ()
Opening balance of furniture 12,00,000
Closing balance of furniture 18,00,000
Depreciation of furniture 2,00,000
Sales of furniture 4,00,000
Book value of furniture sold 3,20,000
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SECTION-E

Following questions are essay type questions. Each question

carries 8 marks (Any Three) : [24]
42) Bharat and Prakash are partners in a firm sharing profit and
loss in the ratio of their capital.
Balance sheet of their firm as on 31-3-2019 was as under -
Balance Sheet
Particulars Anzg)unt A;sets Anzg)unt
Capital A/c: Building 90,000
Bharat 50,000 Furniture 17,500
Prakash 1,50,000 | 2,00,000 Machinery 1,07,500
Reserve fund 30,000 | Stock 17,500
Creditors 40,000 | Debtors 30,000
Sugsiding 1,500 | Cash at bank 8,250
expenses
Accrued income 750
2,71,500 2,71,500

They admitted Kiran as a new partner for 1/5th share of

profit on 31-3-2019 on following terms :

(i) Kiran brought ¥ 62,500 as capital and ¥ 24,000 as her
share of goodwill in cash. 60% amount of goodwill is
withdrawn by the old partners.

(2) Market value of stock and machinery is ¥ 20,000 and
¥ 1,20,000 respectively.

(3) Provision for bad-debt at 10% and 2% discount reserve
on debtors is to be made.

(4) Creditors are to be paid T 30,000.

(5) Value of building is to be increased by 15% and value of
furniture is to be increased by 20%.

(6) Outstanding wages of T 460 is not recorded in the books,
From the above information prepare necessary accounts
and new balance sheet of the firm.
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43) Bhavana, Rishita and Falguni are partners in a firm sharing
profit and loss in the ratio of their capitals. Balance sheet of m
the firm as on 31-3-2017 was as under :

Balance Sheet

Liabilities Amount Assets Amount
®) ®
Creditors : 16,000 | Goodwill 40,000
Workmen- Land and
compensation reserve 12,000 | Building 2,00,000
Employee's profit Patents 60,000
sharing fund 30,000
Provident fund 45,000 | Machinery 80,000
Capital A/cs: Debtors 35,000
Bhavana 2,00,000 -Bad debt reserve 5,000 30,000
Rishita 1,20,000 Stock 53,000
Falguni 80,000 | 4,00,000 | Bank 40,000
5,03,000 5,03,000

Falguni retires on the above date. Partners decided the following

terms of retirement:

(1) The new profit and loss sharing ratio of Bhavana and
Rishita is to be kept at 2 : 3.

(2) Goodwill of the firm is to be valued at ¥ 80,000.

(3) Paid ¥ 60,000 for patents during current year which is
for total 4 years.

(4) Machinery is to be depreciated by 10%.

(5) Bad-debt on debtors is to be written off ¥ 3,000.

(6) 20,000 is to be paid to Falguni.

(7) Market value of stock is ¥ 54,000.

(8) New firm’s total capital will be equal to total capital of
old firm. The entire capital of the new firm is to be kept in
new profit and loss sharing ratio of Bhavana and Rishita.
All necessary adjustments are to be made through bank.
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Prepare :
(1)

Revaluation Account

(i) Capital Accounts of Partners
(ili) Bank Account
(iv) Balance sheet after retirement of Falguni.

44) Mayank, Minesh and Vaishali are the partners of the firm
sharing profit and loss in the ratio of 50%, 30% and 20%
respectively. The balance sheet of the firm as on 31-3-2017
was as under :

Balance Sheet
Liabilities Amount Assets Amount
) )
Capital A/c Goodwill 50,000
Mayank 60,000 Fixed assets 1,00,000
Minesh 50,000 Investments 60,000
Vaishali 80,000 | 190,000 | Debtors 70,000
Investment -Bad debt
fluctuation fund 20,000 | reserve __ 6,000 | 64,000
Workmen Stock 20,000
compensation
reserve 30,000
Creditors 40,000 | Cash 16,000
Provident fund 60,000 | Profit-loss A/c 30,000
3,40,000 3,40,000

Mayank retires on 1-4-2017 on the following terms :

(1)

< 20,000.

(i1)
(iif)

The market value of investment is Z 45.000.
Bad-debts on debtors T 2,000 is to be written off and

the provision for doubtful debts is to be kept at 5%.

(iv)
(V)

Fixed assets to be appreciated by 20%.
The book value of stock is over valued by T 600

The claim of workmen compensation is accepted at

compared to its cost. The cost of stock is to be recorded.

(vi)
(vii)
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Mayank is to be paid ¥ 10,000 in cash.
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(viii) The new profit and loss sharing ratio of Minesh and
Vaishali is 1 : 4.
Prepare revaluation A/c, Capital A/c of partners and the
balance sheet after the retirement of Mayank.

45) Amar Limited of Ahmedabad issued 18,00,000 equity shares
of ¥ 10 each. The company received applications for
20,00,000 shares. Shares were allotted at meeting of board of
directors.

Excess applications of shares were rejected and the
application money thereon was refunded to the applicants.
Amount on shares was called up as under :

On application < 3 per share
On allotment T 2.50 per share
On first call T 2 per share
On Final call % 2.50 per share

Aman who was allotted 1,600 shares, could not pay
first and final call money. Where, Abhay who was allotted
1,400 shares could not pay final call money. Except this, all
the amounts due from all the shareholders were received on
due dates.

Pass necessary journal entries relating to above
transactions in the books of the company.

46) Vijay Textiles issued 12,00,000 equity shares of X 10 each.
On which amount was payable as under :

On application 3 4 per share
On allotment % 4 per share
On Final call % 2 per share

Company received application for 15,50,000 equity
shares from public. Excess applications were rejected and
amount paid on application there on was refunded.

Aasha, who was allotted 8,000 shares, had not paid
allotment and final call amount.

Lina, who was allotted 2,000 shares had not paid amount
on final call. Company forfeited shares of Aasha and Lina
and all the forfeited shares were reissued at ¥ 7.50 per share
as fully paid up. All these shares were purchased by Vinod.

Pass necessary journal entries in the books of company

to record above transactions.
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SECTION -F

Answer the following questions. Each question carries 11 marks.

47) Shiv and Keshav are partners of a firm sharing profit-loss in the
equal proportion. From the following trial balance as on dated
31-3-2017 and adjustments, prepare final accounts of the firm.

Trial Balance of the Partnership firm of
Shiv and Keshav as on 31-03-2017

Particulars Debit(¥) | Credit X
Capital and Drawings
Shiv 10,000 1,00,000
Keshav 20,000 1,20,000
Opening Stock 60,000
Purchase and Sales 61,000 80,000
Carriage inward 20,000
Weighing machine-charges/Tolai 1,000
Provident fund and contribution 4,000
to Provident fund 1,000
Dead stock 22,000
Salary-wages 12,000
Loan of Shiv (from 1-7-2016) 20,000
Mahajan Lago 2,000
Factory building 1,00,000
Depreciation on factory building 10,000
Insurance premium 1,200
Prepaid insurance 600
' Demurrage 200
Cash and bank 6,000 18,000
Bills 30,000 14,000
Customers and Traders 20,000 16,000
Professional tax 1,000
Outstanding salary 1,400
Bad debts and bad debts reserve 1,400 6,000
Total 3,79.400 3,79.400
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Adjustments :

(1) The value of closing stock is ¥ 40,000 but market value
is 20% less than book value.

(2) Goods were received of ¥ 1,000 but invoice is not
recorded in the purchase book.

(3) 10% interest is payable on capital and 5% interest is
chargeable on drawings.

(4) Provide bad debts reserve of ¥ 3,000 and keep 10%
discount reserve on debtors.

(5) Shiv has withdrawn goods of ¥ 1,000 and Keshav has
withdrawn goods of ¥ 2,000 for personal use recorded
in sales book as credit sales.

(6) As per partnership deed, interest on capital is payable,
even if there is loss.

48) Following is the trial balance of Divine Ltd. as on 31-3-2017 :

Particulars Debit(X) | Credit (3)

Inventories 1,10,000
Fixed assets-tangible 8,00,000
5,000 equity shares of 100 each | 5,00,000
Sales | 7,50,000
Other incomes 20,000
Employee benefit expenses 1,30,000

| Long-term borrowings 3,50,000
Finance costs 17,500 _!
Trade payable 1,00,000 |
Trade receivables 40,000 f
Cash and bank balance 60,000 |
Depreciation 22,500
Cost of goods sold 4,00,000
Non-current investment 1,40,000
Total 17,20,000 | 17,20,000

Additional information :
Provision for tax ¥ 80,000. Prepare final accounts of the

company as per schedule-11I of Companies Act, 2013.
*60
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